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D C B A Questions | iy V-4
ls u’/}; Lzl s :”éu%d//lﬁ'd)yf 1
Distance Force Area Speed Identify the base quantity:
1 2 3 4 o DALNANC IR I
States of equilibrium are:
ub/UJ J J/:;_Lj u’/}; ?‘g/.:gf/l/;l{?/'l;uful 3
Velocity Mass Net Force Force Inertia depends upon:
s ot ks g e Ao e Ut 4
Power Displacement Distance Speed Which of these is a vector quantity?
:+Jnf /g’}/vul’{/iﬁgf/}ﬁ‘d}?
r v v? m? Centripetal ~ force is  directly | 9
proportional to:
J'%ud,‘g/ ﬂ/ u;ct-’/ jl/{ﬂ):?l, Zayf‘{c«/lfdt&’;wk]uf)f!
. . . Molecular L - . 6
Radiation Convection Conduction Collision In gases, heat is mainly transferred by:
98.6°C 37°F 37°C 15°C S fA Sl |
Normal human body temperature is:
L“n/,u,fg..gm‘g&g.ug{/i/?u:ﬂ;u(‘“
10° Nm™ 10° Nm™ 1INm™ 10 Nm™ | 8
Sl unit of pressure is Pascal, which is
equal to:
1000 km (42300 km e | 6400KM | :%‘”’l‘*f”w 4 J; St flets .
1000 km 42300 km Infinity 6400 km ar‘g S gra.V1tat10na orce of attraction
vanishes at:
H, Hy H, H, :-‘at'l?g/:lﬁfaﬂ/"gf;d/fdefs 10
Latent heat of fusion is represented by:
1cm 1 mm 0.01 cm 0.01 mm i b O |y
The least count of Vernier Callipers is:
U L TIEISF S Jps e JOSE Aokl |,
Book on table Pencil at its tip Block Football | An example of neutral equilibrium is:
e b ar K e S
0.01cm 0.1cm 0.1 mm 0.01mm | The fleast count of digital Vernier | 13
Callipers is:
(C‘f’r g SR 8 Kgfru)b“%é‘jgu:fmrj&/:.u:u’ 14
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Momentum

Friction

Net Force

Force

?c‘_t'}'ZJUM
Newton’s first law of motion is valid
only in the absence of:
‘.LL/J/,L L};A;Uﬁ ms ¢ 72kmh™
30ms™ 25ms™ 20ms™ 10ms™ | conversion of 72kmh~tomsis equal | 15
to:
s g ¥ F e iAo e S 16
Watt Newton Kilogram Pascal Which unit is not a derived unit?
‘agn}!ﬁgfu’t':)é/d}fd:}{)u’(
4 3 2 1 The number of  perpendicular | 17
components of a force are:
brdui-e 250 G SRS L L K2
50ms™ 25ms™ 125ms™ 5ms™ x| 18
The kinetic energy of a body of mass 2
kg is 25 J. Its speed is:
. . . P e Qb SIS S Lo T &
8000ms™ 800ms™ 8ms” The orbital speed of a low orbit | 19
Zero Lo
satellite is:
, , , , e dd'g L e
8.87ms 274.2ms 3.7ms 1.62ms The value of ‘g’ on the surface of sun | 20
is:
S F i fl o S22 L Lot ekl
el
m 2.5m 1m 0.5m What should be the approximate length 21
of a glass tube to construct a water
barometer?
e gt WM K 2 5354
0.08 0.2 0.6 0.8 Thermal conductivity of wood in | 22
Wm K is:
edf w2 g durdp L E UF
M&l/ﬁf&{wrgbiu’h% 2)(1075 K71
8x10°K 8x105K? | 6x10°K™® | 2x10°K™ $redd | 23
What will be the value of 3for a solid
for which a has a value of 2x10° K™
?
5102 m® 5x10? m? 5x10° m? 5x10°m? o et S| oy
5 litre is equal to:
s oy A SE K e Fopiel ol sty | 20
Watt Newton Kilogram Pascal Which unit is not a derived unit?
Il gk S EA TS :‘Lbeﬂfu’?Lrgy K()Jr 26
Random Motion Circular Vibratory Rotatory | The spinning motion of a body about
Motion Motion Motion its axis is called:
s &'«fg’:u’)‘ el s ?‘L/%/’/}’U'U/LU:U’ 21
Power Displacement Distance Speed Which of these is a vector quantity?
s s fb';"/y‘ ﬁ)’{i :‘gt‘MyﬁJibﬁu‘/Jﬁ'u’ﬁ/ﬂJ/} 28
Work Power Momentum Acceleration | The product of force and displacement
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page 2
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is called:
LI G/ LS ZS Sosty Surzdeluons g kb | 29
Lowvering their centre |  Decreasing Decreasing Increasing | Racing cars are made stable by:
of gravity their width their mass their speed
JPALS Sl ARy JPAS e b6 ¢ et G- | 30
Speed of earth Speed of Speed of light Speed of | In Einstein's mass-energy equation, c is
electron sound the:
edmli g e dP LT ol | ol :‘ggCth()”&/'iﬁJiJf 31
Principle of Archimedes Hooke’s Law Pascal’s The density of a substance can be
floatation Principle Law found with the help of:
98.6°C 37°F 37°C 15°C e LA Weer S | 32
Normal human body temperature is:
A § AL bZE) AL | Al ALl 24 21057 :La'urﬁ.n;/ﬂe’ztéﬂﬁ' 33
rapi?] vibrations of S big size of their Free Metals are good conductor of heat due
their at . :
elr atoms small size of molecules Electrons | to the:
their
molecules
30ms™ 25ms ™ 20ms™ 10ms™ ims e $ S e §36kmh g | 34
:tfm}:Jw
A train is moving at a speed of
36kmh™. Its speed expressed in ms™
is:
24 212 6 4 Lo SIS s S Lgtsd ez 3L | 35
24 Hours 12 Hours 6 Hours 4 Hours e
Time taken by a communication
satellite to complete one revolution
around the earth is:
L5508 bi b | ALAL b bor (,Juééu_ué.@_w Lhdbibes ZLLJ}'Z/J/,J/};J 13 LU L 36
Density of the liquid z ys Lt According to Archimedes, upthrust is
displaced Mass of the Volumeofthe | Weight of the | edual to:
liquid displaced | liquid displaced liquid
displaced
1Nm™ 10 Nm™ 10° Nm™ 10* Nm™ e g L2 Sl gt a3
SI unit of pressure is Pascal, which is
equal to:
98.6°C 37°F 37°C 15°C e £ Qe S | 38
Normal human body temperature is:
Azl S I IS e 3 e 7BV F 39
Absorption Convection Conduction Radiation | In solids, heat is transferred by:
lcm 1 mm 0.01cm 0.01 mm e et A | 40
Least count of Vernier Callipers is:
=7 uj/u(l,‘l Cjﬁu UI/Z.} ‘ﬁ;f@gﬂlbfg&V&J/llJu’:)u:‘ﬁélﬁup(gj‘/f' 41
Heat Atomic Light Geo Physics e
Physics The branch of physics which study the
internal structure of the earth is called:
B F & s i I St Ll 2| 83
Deceleration Acceleration Velocity Speed The rate of change of displacement of a
body is called:
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page 3
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/,g BN g by e i sofe dor | 48
Power Displacement Distance Speed Which of these is a vector quantity?
¥ Jz FL S e 2ogk b | A0
Kilogram Joule Pascal Newton The unit of force is:
(jbﬂﬁ Jb JJ}’.‘/;: u'u’ :LLt'}'Z/V;l{“w/.i 46
Velocity Mass Net Force Force Inertia depends upon:
u’/}; /f./.: f‘:'",r‘ St ujji)/}'lgj.::jﬁu’/iu/( 47
Force Pressure Momentum Torque The turning effect of a force is called:
20ms™ 9.8ms™ 10ms™ 1.62ms™ e (ned§gn 0 Say | 48
The value of “g” on the surface of
moon is:
G F S ¥ EAy Gk e Gl inits S5ty 5 | 49
Thermal Energy Kinetic Potential Electrical | The energy stored in a dam is:
Energy Energy Energy
6x10% kg 6x10%° kg 6x10* kg 6x10% kg e S 50
Mass of the Earth is:
Potential energy (P.E.) =:
a ax B |:1><i leé F = J.lb‘iuib“zi‘)/’g 52
AxF R A a According to  Pascal’s law,
F, =
140°F 133°F 122°F 100°F s 450°C | 93
50°C is equal to:
98.6°C 37°C 37°F 25°C e f A3 | 54
Normal human body temperature is:
4K oA Ly &g :‘LJ"/J’W_»«A] 55
Copper Iron Gold Water Poor conductor of heat is:
Jr’..gél.u/( r;!l; (W4 J Lgbby/()’”c/ik‘&j.@ 56
Level of a liquid Volume Area Mass A measuring cylinder is used to
measure:
* A Jr oL e eiyiilbyd | 2
Second Meter Mole Newton | Which is a derived unit?
~10ms™ 10ms™ 0 Ims™ Sy 7 ah e 3PS i Sl g | 58
:J sk
A ball thrown vertically upward, its
velocity at the highest point is:
mv’ mv mv mv’ ez (F) TSRS 59
2 2 . .
r r r r Centripetal force (F,) is equal to:
0.866 0.707 0.6 0.5 e =3 cos60° | 60
Value of cos60°is:
2w=0 2F=0 >m=0 21=0 :‘ab/“u%?d/é/d:’z/! 62
The first condition of equilibrium
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page 4
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IS:
9 7 6 3 AT OGS g
The number of base units in Sl is:
m?s ms ms 2 ms o _ -y S (o 64
Which is Sl unit of acceleration?
Hels Mu’; L;’UJ Ay ‘a&wﬁiu&ﬁ/g 65
Distance Displacement Velocity Speed A change in position is called:
$Us Ji Jhes Js ?ég({gf/lﬂ;iﬁ.ﬁ}l 66
Velocity Mass Net Force Force Inertia depends upon:
$G=0 SN=0 $1=0 SF=0 N b PG AN | g
Second condition of equilibrium is:
1 1 1 Yl :?‘Q:JLIJ’}JJ’;WLQ’T&
8000 ms™ 800ms" 8ms” Zero The orbital speed of a low orbit satellite | 68
is:
J./'Uf{g_ﬂw J./U%‘:{ s G 3¢ e QU Gz Uling
Elastic Potential | Mechanical . N Kinetic Energy stored in the stretched bow is | 69
Potential Energy ’
Energy Energy Energy called:
S St S S e S il <" el G AT
Speed of the Speed of - . Speed of | In Einstein’s mass energy equation “c” | 70
Speed of light .
Earth electron sound is:
Nm" Nm? Nm"2 N _ _ eiSIER | g
Sl unit of stress is:
Principle of , Archimedes’ , * | Density of a substance can be calculated
. Hook’s law L Pascal’s law i
floatation principle by:
:4%(&‘&!/&5&{&(}4!)/)!5&{6?
3a 3 a _3 —Y -
B= Py B= B= 3 a=36 The coefficients of linear and volume | 73
expansion have relation:
B SL G BNy ey Ped 7 eI I P 24
Absorption Convection Conduction Radiation | In solids, heat is transferred by:
0.01 mm 0.01cm 0.01m 1 mm by LA 2 | 1D
The least count of meter rod is:
10 10 107 10°° bl P, | T8
Prefix femto is equal to:
5 Fs +R E FsR -LLL")’Z/,'/,L M‘dﬁi:’/{u&(/ "
R F Co-efficient of friction is equal to:
)lp."uéé:( 4 3 2 :‘u,bal:%yfczuﬁ‘%w&}f’;duﬁi}g 8
Any number The number of forces that can be added
by head to tail rule are:
1 1 1 29 dr gt L b Letie sl =i | 19
g g g *
4 3 2 )
o
The value of g at a height one Earth’s
radius above the surface of the Earth is:
180° 90° 60° 45° /‘.J//: In IO Z M sl Lf/’; -2 80
K
The work done will be zero when the
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page5
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angle between the force and the
displacement is:
e r::‘,.k’, d/// /.:K ?‘guq;../‘(:—lm)iu’u/ 81
Lead Aluminum Mercury Copper Which of the substances is the lightest
one?
e S g ¥l woed Sed@ s db LU 2 S e st | 82
Steel Brass Gold Aluminum e s
Which of these material has large value
of temperature coefficient of linear
expansion?
4 3 2 S ByAr T dobA | 83
The surfaces of Leslie’s cube are:
(}ﬁu 09 ,&'(g Ly :‘4@’."!2(&/'!&/!7 84
Light Earth Moon Sun The major source of heat energy is:
5 10 15 20 -chnué &{&,J%J/»g, 85
The efficiency of an electric lamp is
percent.
147 kg 0.147 kg 14.7 kg 1.47 kg B) b UL 147N s gr%ug 86
(g=10ms™
The weight of a body is 147 N, its mass
will be . (if g=10ms~?)
J & Je o (KE) G4 67 b or o G § 7 A1 | 87
nine SiX four three St
If velocity of a body becomes three
times greater, then kinetic energy will
be times.
1 2 0.2 0.1 ILLQJEJuy/.JTM&I/uy/J£53/u@/3le’ 88
Co-efficient of friction between tyre and
dry road is:
A 1 1 A? Q . 89
K F T oc ‘C/Q/A{{Lc«/’/"
Rate of flow of heat % oc
36ms 10ms™ 36 10 Dy 1kmh | 89
10 36 1kmhis equal to:
}‘ 1 F 2F —ngl_Lg(}/JfJ/d/X—aXiS "IE"J/}.{! 920
Zero Woreid
A force "F"is acting along x-axis, its y-
component will be:
£1000 km 42300 km LAetinnir £6400 km SN AACIA L
1000 km 42300 km Infinity 6400 km | Earth’s gravitational force of attraction
vanishes at:
Pf 'Pi Pf + Pi Pf - Pi Pi - Pf -4;./,l/,£ (IE) U'/} 92
t t t t o
Force (F) is equal to:
11m 25m Im 0.5m &nd“{fim@wd;id/‘é‘éLL&}»”:/:.K&Q 93
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?4.‘7‘5
What should be the approximate length
of a glass tube to construct a water
barometer?
2x10°°s 2x10™s 0.02s 0.2s e il S0 £1200 | 94
An interval of 200usis equivalent to:
FHBlniber | Ldluive: | ehLllnives | Lhdlvive: | a Ll UASIEI G LU s 95
density of displaced U volume of s &
liquid displaced liquid , aatdd
_ massof weightof | According to Archimedes, upthrust is
displaced liquid displaced .
liqui equal to:
iquid
,,,&Iu‘?’é[ 4 3 2 ZLLB}LLL’ﬁ(?.‘{(éM}U;JJ}{}Ldqu;&f 96
Any number The number of forces that can be added
by head to tail rule are:
§S d i 1 e Joboos i rolid of | 97
Mercury Water Ice Copper Which of these material has large
specific heat?
L s E T ZIEn St Soudedewnsg sty | 98
Decreasing their S Decreasing their | Increasing | Racing cars are made stable by:
width Lowering their mass their speed
centre of
gravity
0K 273K 32°F 0°F :%H?U:J/'/».j'/:‘ﬁ&k 99
Water freezes at:
F3 Fs FHM y» b e i S d e sl 27| 100
Deceleration Velocity Acceleration Speed -
By dividing displacement of a moving
body with time, we obtain:
Sat s G 3¢ &)lﬁ'g G :+8n&juo}o /Z';'ui‘[}gééﬁ 101
Thermal Energy Kinetic Potential Energy | Electrical | The energy stored in a dam is:
Energy Energy
SISk =74 S 55674, :‘g%ggﬂ;qw;;ugm% 102
Radiation Convection Conduction Molecular | In gases, heat is mainly transferred by:
Collision
s v L Fi e e pileole o | 103
Watt Newton Kilogram Pascal Which unit is not a derived unit?
87N N SN 4N e Q¥ 30° AL LA —x ALz 10 | 104
:?n&{;{fl?uﬂu’l
A force of 10 N is making an angle of
30° with the horizontal. Its horizontal
component will be:
s &'«fg’:u’)‘ el s ?‘L}f}/!ﬁ»dufcu:un 105
Power Displacement Distance Speed Which of these is a vector quantity?
8000ms™ 800ms™ 8ms™ e e Qb S S P e Lo T & 106
Zero The orbital speed of a low orbit satellite
is:
S7 5 K d Eoen Lo Wi S S e o | 107
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page 7
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QOil Air Fine m;lrble Water S’c‘-&w#/f}uyﬂiuic
powder Which of these materials lowers the
friction when pushed between metal
plates?
§ 3 i 1 S Joboos e ruli 2 Lwd | 108
Mercury Water Ice Copper Which of these material has large
specific heat?
Lk o i U 0238 S Fags) ) Bt e s of St | 109
Plasma Gas Liquid Solid In which of these state molecules do not
leave their position?
4 3 2 1 :‘aam!ﬁgfu’bf,{d:fd:}{’u’( 110
The number of perpendicular components
of a force are:
D= W, XD B D= W, X P A %JK?J(}J"’L&UL/L}/%JJ);U/( 111
W, —W, Wy —W, Density of a solid can be determined by
D — equation:
Do W, D D:W1 szp C q
W, —W, W,
6.673x107 6.673x10™ 6.673x107° 6.673x10™ :g.ufJ'G' 112
Nm? kg™ Nm? kg™ Nm? kg™ Nm? kg Value of ‘G’ is: ‘
Aot ek g &1 s :%&M@;u:‘ﬁjg 113
Distance Displacement Velocity Speed A change in position is called:
N7 il ! g e Pradg | 114
None of these Decrease in Increase in Increase in | Value of ‘g’ increases with the:
altitude altitude the mass of
the body
B4 IS4 S 14 G :,g/,;thgéff;/;quLJﬁ"uf 115
Convection Radiation Convection and | Conduction | Rooms are heated using gas heaters by:
Radiation
Ns™ Ns kgms™ Nm :+ng(L;f e So | 116
Which of these is the unit of
momentum?
o ) U B2 §froi i Letboor F 60 e utw | 117
Momentum Friction Net Force Force € trar ulbl
Newton’s first law of motion is valid
only in the absence of:
2G=0 >W=0 2F=0 >21=0 ‘LJ:/"J%JF:/M:' 118
First condition of equilibrium is:
98.6°C 37°F 37°C 15°C e £ Qe g | 119
Normal human body temperature is:
Ul L o Jieds” ety e i §g | 120
Mass Area Volume Levelofa | A measuring cylinder is wused to
liquid measure:
S Jz Zis S eSSy | 121
Kg Joule Watt Newton Sl unit of work is:
EAskidsy PRTY K Sk w2 PG ST F IR 7S P i Solens | 122
Neutral Equilibrium A Couple A Torque Ay
Equilibrium T
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137  Page 8
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Two equal but unlike parallel forces
having different line of action produce:

F= m,m, F= GmlmZ F= G Me F= GmlmZ :‘Lu}?l?gﬂdi/f 123

2
G d d* d Law of gravitation is:
745 W 749 W 746 W 748 W e L AL 124
One horse power is equal to:
G Ay G S ¢ Gl e Gnin B3t o | 129
Nuclear Energy Chemical Kinetic Energy | Heat Energy | The energy stored in coal is:
Energy
cdPLiys | UMLusta | eulild | culilFy e GFelprgufi | 126
Principle of - Hooke’s Law Pascal’s The density of a substance can be found
floatation Archimedes Law with the help of:
Principle
a=4p B=3a B=2a g=d ugf(&djl/&i&{uﬁ(ﬂmuﬁ&ui&ﬂk{dﬁ 127
3 e bl
The coefficients of linear expansion and
volume expansion are related by
equation:
Sy I Lkt SE i e b S Pl e o | 128
All of these Wind Surface area of | Temperature | Which of these affects evaporation?
the liquid
Sz =74 G BNy e e JEIV I F 129
Absorption Convection Conduction Radiation | In solids, heat is transferred by:

5000 ng 100 mg 2mg 001g ?Laé)%”ch/z'ﬁ'dufédfcﬂ 130
Which one of these is the smallest
guantity?

/5&; Muﬁ s e ?Lg}..(;/l,ﬁfu’ufcuful 131
Power Displacement Distance Speed Which of these is a vector quantity?
a=y a= ViV a=Vi—Vi a=YiTVi :‘gﬂfjliﬂ'ﬁ}’{i 132
t t t* t Formula of acceleration is:

Ns™ Ns kgms™ Nm :+ng(L;f e S | 133
Which of these is the unit of
momentum?

100\] 50\] 10\] 2-5\] u:L%LjdAJSmLU:J%’Vngif}KZ 134

ZKM..J/A.L((U/
The work done in lifting a brick of mass
2 kg through a height of 5 m above
ground will be:

11m 25m Im 0.5m &mfrfiméwd/-fx"d/i‘,iLL&%}/:.KJQ 135

?4:7‘.?
What should be the approximate length
of a glass tube to construct a water
barometer?

0K 273K 32°F 0°F :f_tlgwd44j~/;}‘ﬁ&g 136
Water freezes at:

§/S dt i 1 e Joboos? it rolih 2od | 137
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Mercury Water Ice Copper Which of these material has large
specific heat?

SISk ujf u’( g i Kﬂg?t :Lg.,,rl(:ulidu'}l}'upuﬁ / 138

Radiation Convection Conduction Molecular | In gases, heat is mainly transferred by:
Collision

5000 ng 100 mg 2mg 0019 ?‘éégéq/wdu/‘;uﬁu, 139
Which one of these is the smallest
quantity?

Ut Ly e Jéds” e by e i f g | 140

Mass Area Volume Levelofa | A measuring cylinder is wused to

liquid measure:

30ms™ 25ms ™ 20ms™ 0ms™ | mste S o7 ey f36kmh s o | 141

Srkr St
A train is moving at a speed of
36kmh™. Its speed expressed in ms™
is:

Ns Ns kgms’2 Nm :‘L&?ﬁgf‘;‘{},;uﬁu, 142
Which of these is the unit of
momentum?

87N N 5N 4N e Bl 30° A LA —x o L8210 | 143

:?n&{{fl(u’;)ﬂ
A force of 10 N is making an angle of
30° with the horizontal. Its horizontal
component will be:
8000ms™ 800ms™ 8ms™ e e QoSS S Sewr Lo 1k | 144
Zero The orbital speed of a low orbit satellite
is:
42,300 km 6,400 km 1000 km 850 km uw”c/f:f:«fuﬁ:”ﬂ&}fufd?aﬂd}?ﬁ 145
193}?:‘-&%/’5 Sk
The altitude of geostationary orbits in
which communication satellites are
launched above the surface of the Earth
is:

9 7 6 3 e IS g tdie | 146
The number of base units in Sl are:

5000 ng 100 mg 2mg 0.01¢g ?Lé}{cb"/ﬂ/&)du/c_u:u’ 147
Which one of these is the smallest
quantity?

s &'«fg’:u’)‘ el s ?‘L}Z/Wdufcu:un 148

Power Displacement Distance Speed Which of these is a vector quantity?

ub/U) Jb u'/)’_‘a{ JJ” ?ﬁ'_/.:ujzlj!g‘@)lcufw 149

Velocity Mass Net Force Force Inertia depends upon:

4 3 2 1 ‘L&ﬁ;lﬁd/u’i’:;“fd;}fé/‘{!f/ 150
The  number  of  perpendicular
components of a force are:

8000ms™ 800ms™ 8ms™ e : %3 ke §E S S S Lo T K 151
Zero The orbital speed of a low orbit satellite
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137 Page 10
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is:
1 1 1 29 St L AL L tic il =ddg | 192
g g g d
4 3 2 .
¢+
The value of g at a height one Earth’s
radius above the surface of the Earth is:
180° 90° 60° 45° e bt il n LA s b o S | 193
The work done will be zero when the
angle between the force and the distance
is:
e r::‘,.k’, d/// /.:K ?‘guq;../‘(:—lm)iu’u/ 154
Lead Aluminum Mercury Copper Which of the substances is the lightest
one?
(F)'c_/ﬂ;’:’;LU) P IP RSy /%;Fﬁﬁ)éd} u@.c::’}éc,l/ ‘éﬁfd/(f 155
A8 5 )’Jug’?- YN i §,ee | Land breeze blows from:
Sea to land Sea to land Land to sea Land to sea
during day during night during day during night
98.6°C 37°F 37°C 15°C e g Qe S | 196
Normal human body temperature is:
810Jkg* K™ 4200Jkg™ K™ 4000Jkg K™ 1000Jkg ' K™ e dwond w7 S0 | 157
Specific heat of water is: '
4 3 2 1 :Lgn,u?Jur,w(Tuu: 210.0g 158
In the value 210.0g, the number of
significant figures is/are:
ug e ot S e s uiedior | 199
Power Displacement Distance Speed Which of these is a vector quantity?
180° 90° 60° 45° e bt i s L A sl B po S | 160
The work done will be zero when the
angle between the force and the distance
is:
8.7N N SN 4N «LLJU:,:JUK3OO jvérfv X A L1dr £ 10 161
gﬁ&{JJ’iKJA’J!
A force of 10 N is making an angle of
30° with the horizontal. Its horizontal
component will be:
1 1 1 29 S gt LR Lotie sl =4 dg | 162
g g g *
4 3 2 .
.
The value of g at a height one Earth’s
radius above the surface of the Earth is:
Al SFES g5 SIS e 3 e 7B 163
Absorption Convection Conduction Radiation | In solids, heat is transferred by:
Utk o é U €23 U s Bt s o Gt | 164
Plasma Gas Liquid Solid In which of these state molecules do not
leave their position?
0K —273K 32°F 0°F :+V@wdz4j~/;‘bu?&g 165
Water freezes at:
373K 300 K 293K 213K | i 2 o JE k50 20°C g S 7 7 | 166
A Project of Subhat Education Society(The Hope) Ch Mansoor Ali 03008848137 Page 11
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What will be the temperature on Kelvin
scale when it is 20°C on Celsius scale?

10m 1.0cm 1.0 mm 0.1 mm e ok, 2 | 167
Least count of meter rod is:
2 2 . . 5oLk ¢ 168
F="5 F=rm F="y F=or el
r r r r Formula for centripetal force is:
ok L o s e S0 (a) M (m) U | 169
Torque Inertia Force Momentum | The product of mass (m) and
acceleration (a) is equal to:
J}” gj)j rl;}g r’/f ‘a.ngg/()’“‘/i,&sz.;Luﬁégf( 170
Mole Newton Kilogram Gram Amount of a substance in terms of numbers is
measured in:
7! B 15 Ao Jr te psoiedio | 1qq
Power Displacement | Distance Speed Which of these is a vector quantity?
L:(U} Jb u’/;bbf:{ Ju’ ?94(}6%!{?)!@@5@! 172
Velocity Mass Net Force Force Inertia depends upon:
2 ) Ul A iLie o | 17
Force Friction Mass Scalar Weight is a:
PRI £ 265 s L O a el PTG KR 7 S 3 U Sl
Neutral Equilibrium | A Couole | A Torque | TWO equal but unlike parallel forces having 174
Equilibrium g P g different line of action produce:
6.673x10™ YN Ry
o, | 6x10%kg | 6.4x10°m | 9.8ms? _ G Sl | g
Nm~ kg In Sl-unit, the value of G is:
1000 kM | (42300 km | gbebnsy | 6400KM | e :L“}‘;”*jw’f’ Jrs/d hu“ 176
1000 km 42300 km Infinity 6400 km até?.rt S grav1tat10na orce of attraction vanishes
100% 201% 75% 34% N _ et AT | gy
Efficiency of an ideal system is:
UL f | adrmlusts| cufil | culs L FL :LLGC@J()L’”ULV;‘%J o
Principle of | Archimedes | Hooke’s Pascal’s | The density of a substance can be found with the | 178
floatation Principle Law Law help of:
Lkl SO i .
J'frf}d |5 Surface j./:/ ?‘LL"//&U”[&/‘?{UZVU}(LJU’ 179
All of these Wind area of the | Temperature | Which of these affects evaporation?
liquid
L’/é{"/"/.' ﬂ/ L‘f‘{'df&/ L'/;(/t‘( u.?dlf’dﬁff/”d“/.(i 180
Absorption | Convection Radiation | Conduction | Land and Sea breezes are also the examples of:
Kg K™ JKg K™ K JKg™ _ 3 _ el TR 27 | 1aq
Sl-unit of specific heat is:
0.01 mm 0.001 mm 1 mm 0.1 mm :‘a&?t{&/:’t{@fg)ﬁ 182
Least count of screw gauge is:
s gy rl/ ¥ J’g ?+uﬁ’ _ug;f'u/‘gL/u/ =iyl 183
Watt Newton Kilogram Pascal Which unit is not a derived unit?
400kmh™ | 300kmh™* | 200kmh™ | 700kmh™ e gl e | 184
The speed of Falcon to fly is:
L BN Aot p e s uie o | 189
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Power Displacement | Distance Speed Which of these is a vector quantity?
F o mv F o mr? F o m’v F o mv? _ I%U)T/GKL/()JW‘U?}J&'J 5| 186
r v r r The formula to find the centripetal force is:
8.7N 7N 5N 4N F - (a6 30° 2L £ A X b L1 S 10 | 187

Knind
A force of 10 N is making an angle of 30°with the
horizontal. Its horizontal component will be:

1600 N 1000 N 160 N 100N s K()’_{!Lloo Kg 4+ -< 1.6 ms?=d §g /,é/ufxtg 188
Kx
The value of g on moon’s surface is 1.6ms™ .

What will be the weight of a 100 kg body on the
surface of the moon?

25 34 22 24 oIS we St By | 189
The numbers of total satellites in Global
Positioning System are:

180° 90° 60° 45° e bt il n A sl h b o S | 190
The work done will be zero when the angle
between the force and the distance is:

e ﬂ:/),l:l d/'// /,:K ‘."gu@cﬁ/(alﬂu)iu’u/ 191
Lead Aluminum Mercury Copper Which of the substances is the lightest one?
0K —273K 32°F 0°F ety A7 | 192
Water freezes at:
12 8 6 4 wgﬂugvt;*[dﬂ 193

The faces of Leslie’s cube are:
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Class: 09 The Hope PHYSICS

All Punjab Past Papers _ Section 1

10 Write short answers to any FIVE parts. ez P lanbie 8 2
Differentiate between base quantities and derived quantities. ,»55 50} UE U838\ sl sl e $olr (i)

What is meant by prefixes? Sl c‘/‘d/? (i)
Define atomic physics and geo physics. S Gy PSS P A (i)
What is Brownian motion? e Wretig (i)
Distinguish between scalars and vectors. <§J}uﬁj}5m/‘/k¢ (v)
Define dynamics. S (vi)
State Newton’s third law of motion. ~E I Sy (Vi)
Write down the relationship between the force and the momentum. 2hd uy»&f‘f valgss (Vi)

10 Write short answers to any FIVE parts.

ez L;l'].lé&céf 2

Define base quantities and derived quantities. &y P Ui sl Ui ol (i)
What is meant by scientific notation? Give example. _&aEta I (i)
What is meant by zero error and zero correction? Sl P (iii)
Convert 20msinto kmh™. _ESde A kmh™20ms™ (V)
What is meant by gravitational acceleration? Sl . r.ﬁ)ﬂﬂﬁ@/ (v)
What is meant by rest and motion? Give examples. _E e e F el (Vi)
What is meant by dynamics? fel /y/f.‘ﬁ:us (vii)
Write any two disadvantages of friction. eI ST (Vi)

10 Write short answers to any FIVE parts.

Aeyzf a3

What is meant by nuclear energy? Sl e G Ay (i)
?u:i/(L/ui‘“'u/w}f{dgf&fjuyﬂérw;zruﬁ’.ﬁt}u(7 (i)
We do not feel gravitational force of attraction between objects around us. Why?
Differentiate between potential energy and kinetic energy. “E L FOPRCAESmEa Py (i)
Define artificial satellites. Ny NI S (1Y)
Write down principle of moments. ey f"dﬂue{u‘“‘r (v)
Sl unit of work is Joule, define one Joule work. ~E Sl Jaey ST S (Vi)
What is meant by geostationary orbit? Cesl e ey 2 (Vi)
Define magma. Sy SEE (viii)

10 Write short answers to any FIVE parts.

-'é_»,yuz /‘..; L;l]lékaéf 2

Eeunms 'y e Loz e LS immd Lo ()
Your hair grow at the rate of 1mm per day. Find their growth rate innms ™.
What is meant by Vernier constant? Sl ol et 7 (i)
Define mechanics and heat. o e (i)
Define the terms velocity and acceleration. _E o EHE Mg (i)
Can a body moving at a constant speed have acceleration? ?%CCnJ%)/fuu:ﬁ Ll St s b2 (V)
Define uniform velocity and uniform acceleration. Y /JJJ%/%puggm‘}‘u,,ougg (Vi)
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When a gun is fired, it recoils. Why?

Differentiate between mass and weight.

10 Write short answers to any FIVE parts.

Define mechanics.

Who do we need to measure extremely small intervals of time?
Express these numbers in scientific notation:
Differentiate between distance and displacement.

A sprinter completes its 100 meter race in 12s. Find its average speed.

Define force and write its Sl unit.
When a gun is fired, it recoils. Why?
What is friction?

P 2 P I P N S V)
ES S S (' 1]))

Aeyz B Lanbie§S 2

E A0

¢ Gyuden e UB Sl (i)
(i)0.0000548s  (ii)6400000m :2¢ 4o i B S (i)
-.55 b3St (iV)

ek et /Pl 100 g 12 g (V)
Sl gy S (Vi)

tud e Qulr /e e Qedglstie (Vi)

te b (viii)

10 Write short answers to any FIVE parts.

Aeyz B Lanbie S 2

_LL/LJ.IKi.y:c/nJgLﬁJngJ!ﬁf&fEU/zu?é('}J!/&“w:.(j/ (i)

Write any two factors on which accuracy in measuring a physical quantity depends.

Differentiate between positive and negative acceleration.
Define derived units. Give names of any two derived units.
State Newton’s first law of motion.

Define least count of a Vernier Callipers.

Define uniform velocity.

Differentiate between kinematics and dynamics.

Define momentum. Write its Sl unit.

10 Write short answers to any FIVE parts.

Write down two demerits of measuring instruments, used in the past.

Define physics.

What role Sl units have played in the development of science?
Define scalar and give its two examples.
Differentiate between rest and motion.

What is position?

Why rolling friction is less than sliding friction?
State “law of conservation of momentum”.

10 Write short answers to any FIVE parts.
Define prefixes and give two examples.
Differentiate between rest and motion.

Define force and write down its Sl unit.

State the law of conservation of momentum.

What is meant by base units and derived units?
Write any two differences between mass and weight.
Define random motion and write down one example.

AP M sy (i)

Al S ptna g S pa (i)
_E kS ks (V)

S et s (V)

S Sy (Vi)

_E GRS T (Vi)
AeysIegy JEFT (i)

iz 2 L;l'].lé};aé:( 2
S U1 kbl s (i)

S I (1)

S Vi Yy TAT RIS (i)
LS e SUaEy FE (V)
EnipaF ey W)

ety (Vi)

¢ (nf Ul B 3By (Vi)
FS I P LT (Vi)

ez F L dS 2
_é;gjgf'/uui”é,.@/j‘d//d/v (i)
_E G AT et (i)

@y Sl A8 (i)
—E I FEF LT (V)
S e P BN S (V)
_Q/J/'uééi/uﬁui:uiul, (Vi)
e Ly P (Vi)

S Lo S eSS g7 (Vi)

Write down the Sl units of temperature, electric current, force and electric charge.

10 Write short answers to any FIVE parts.
Differentiate between geophysics and plasma physics.
Define acceleration and write down its Sl unit.

ey B Lanbie S 2
EFSAS PGz ()
oy Sl FEHE M (i)

State Newton’s second law of motion. S 6 ukSrksry (i)
Write the number of significance figures in each case: (i) 275.00 (ii)0.027 @ sSur sty (i)
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oyl g A S s V)

Define base units. Write down the base units of temperature and electric current.

Differentiate between circular motion and rotatory motion. G S S S (i)
Sl unit of force is Newton. Define one Newton force. e /:"U/J/}Jz,’ug-bauﬁ}j&,f Slsusd (Vi)
Differentiate between rest and motion. _EWSS AT (Viil)
10 Write short answers to any FIVE parts. _a‘fagnﬁ/’? L;még;ﬁf 2
Write any two main differences between mass and weight. -z“J}uWuc;J/ Kl (i)
What is meant by prefixes? Give two examples. _g;;kﬂc»,;v%,; /Lf:.y‘d/, (i)
Differentiate between atomic physics and plasma physics. ,é:ugu“/'uﬁ‘//ﬂjl}:m‘//}_ﬂl (iii)
Define friction and give its SI unit. Ay Sl E 5 (iv)

te e il o f6HAF s, M)

Define gravitational acceleration. Write down its value on the surface of earth.

Define centripetal force. Write down its formula. gy FS U SES A (Vi)
Write down the names of any two instruments for measuring length. — _zft L wnT§ god bl wdeid £ Fe8dy  (vii)
Define velocity and write down its Sl unit. &y Sty A S vs  (vili)
10 Write short answers to any FIVE parts. eyz B a2
Calculate how many second are there in one day? S s S Ll (i)
Write two important parts of Vernier Callipers. <£(L’£uﬂ7(flu£i G R (i)
Why is the use of zero error necessary in measuring instruments? e s UL S0 St T u"” e (i)
How can vector quantities be represented graphically? S bbl) ﬂwéfu‘?uf Yusii s (iv)
Differentiate between rest and motion. NI AT (v)
Define uniform acceleration. _équﬁﬂu(/@g (vi)
State the law of conservation of momentum. <§uguiwﬁu'/’( Lﬁ"‘f » (Vi)
Define force and write its unit. g gty S8 (Vi)
10 Write short answers to any FIVE parts. ez a2
Define plasma physics and geophysics. “E PSS P (i)
What is international system of units? PRI gl < TFIN (1)
Estimate the age of 15 years in seconds. -a%:;j:?m;%/ww/@ (iii)
Differentiate between distance and displacement. LGSt i bl (iV)
Define rest and motion. E ST (v)
Define acceleration and write its formula also. I e 1 }Jgﬁkﬂ (vi)
When a gun is fired, it recoils, why? U e QB Fnie Qb Sl (Vi)
What would happen if all the friction suddenly disappears? ?Kny/?;;wf".ﬁgifjuffﬂﬁ (viii)
10 Write short answers to any FIVE parts. Aeyzf a2
What is meant by base quantities and base units? Sl = U IS U ol (1)
What is meant by positive and negative zero error of screw gauge? Cesl 2 ././41,4;}:@),1;.;55@@} (i)
Convert 12 years into seconds. S piedJ-12 0 (i)
Differentiate between vectors and scalars. _gﬁf uJ/'u:J/k%u A (iv)
What is the difference between variable speed and uniform speed? S O Ut e g sl e S S0 (V)
Differentiate between distance and displacement. -;YZ O et i deli (Vi)
What is the Sl unit of force? Define it. _é_@}u(ul?%gygéf‘ﬁiKu/} (vii)
Write two disadvantages of friction. Y ;".:,tuﬁ,;&f( 4 (viii)
10  Write short answers to any FIVE parts. ez B LS 2
Estimate 20 years age in seconds. -q_uu:m?uuugfwv 20 (1)

‘.’ujr_m'ﬁufui‘ 0.027 ﬁ?§_;1/gcuynﬁu (i)
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What 1s meant Dy signiticant Tigures? And now many signiticant figures are tnere in 0.0272

Define base quantities and base units. _E S e (i)
Differentiate between distance and displacement. -;éuw/'uﬁmu’m,w (iv)
el Uie t P 2100 s 12 g (V)
A sprinter completes its 100 metre race in 12 s. Find its average speed. ) ) )
(éuyg})?gn}"lg/.:u’/}ﬂdﬂ?&@d}/@i}d"ﬂ:p((%/i (vi)
What will be the effect on the value of centripetal force when the velocity of body becomes double? (Give reason)

Define momentum and write its formula. A bsiagEy FEFTy (Vi)
When a gun is fired, it recoils. Why? ?u;,{/_taau/éq’/éd;%&béﬂg@kvgg (viii)
10 Write short answers to any FIVE parts. -a“:,yﬁ/‘"? L;t'z:ég;g}f 2

e e e 0.5mm ESE S e »50 KK $Ee s ()
A screw gauge has 50 divisions on its circular scale. The pitch of the screw gauge is 0.5mm. What is its least count?

Define plasma physics and geophysics. “E PSS P o (i)
Write down two rules to identify significant figures. -z».wmm”g.aywumﬂ (iii)
Differentiate between velocity and acceleration. & 5 uJ/'uﬁ‘ﬁ/%,,uo"u, (iv)
Define momentum and force. S Jw}mf’? » (v)
Write two methods to reduce friction. b pe Ll S (i)
Why rolling friction is less than sliding friction? ?%ind}[{;f)jﬁfﬂ/:@y}u@u (vii)
Convert 1kmh™*toms™. S gtms Tt Ikmh™  (viii)
>0 e L
10  Write short answers to any FIVE parts. Aeyz B lanbie §S 3
Write down the principle of moments. EYY e 0]
State Newton’s law of gravitation. —E s b/uﬁ:b Sy Sy (i)

A mechanic tightens the nutof a &= bun e a /b Sl oud 27 L 156m JE0s3 S 200N L g (i)
bicycle using a 15 cm long spanner by exerting a force of 200 N. Find the torque that has tightened it.

Define satellite. Write down the name of natural satellite of earth. _’&Vrt&/uﬁf&ﬁéw/’-nébg Flazus (iv)
Define kinetic energy. Write down its formula. LS AU E o SEa el (V)
Define centre of mass and centre of gravity. Y NG IS T ST P (vi)
How solar panels are formed? Write down their uses. -és«ﬂ@‘liul?u}&lg’;@@/’kfr SE e (vii)
Define gravitational field strength of earth. _Eo Pl s S (Vi)
Write short answers to any FIVE parts. eyz P lanbia 3
10
Differentiate between line of action of a force and moment arm. =AY S O ST (i
Think of a body which is at rest but not in equilibrium. _n;u:é/gj,{tu?nuﬁaméumfﬁéi (i)

A i Al S e p e g STame (i)
What is meant by moment of force? Also write is it vector or scalar quantity?

Write two uses of artificial satellites. e L g (iV)
Differentiate between artificial and natural satellites. _EUGi S ﬂﬁ;/(j/ﬁu!&ﬂ” (v)
Define geostationary orbit. S PSS A (vi)

Wri he SI unit of I fine th it of . - .
powgr.down the SI unit of power and also define the unit o -éJJ/’sziuwéuﬁJ{ﬁf’/&#/ng (i)

Why do we need energy? e dyuden daut (Vi)
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10 Write short answers to any FIVE parts. Aeyz P a3
What is meant by nuclear energy? Sl e G Ay Q)

?u)i/:z./uﬁﬂ;/w}f{dgfu(uffuyﬂérwmru’:Jr)u(7 (i)

We do not feel gravitational force of attraction between objects around us. Why?

Differentiate between potential energy and Kinetic energy. Y }J/'U:J.ﬂu@‘jm&);ﬁ‘g (iii)
Define artificial satellites. Ly e gee (V)
Write down principle of moments. LS F U (V)
S unit of work is Joule, define one Joule work. _équJ,J34f+dz&géT¢1KJ, (vi)
What is meant by geostationary orbit? Cesl pfe e TG 2z (Vi)
Define magma. o SLE (viii)
10  Write short answers to any FIVE parts. ez lanbie S 3
Define centre of gravity. _E oy EE ST A (i)
Differentiate between like and unlike parallel forces. ‘;éuw/'utp}‘j’uﬁjuuwju (i)
State the principle of moments. _uds e (i)
Why law of gravitation is important to us? e A1 LS (iv)
What is global positioning system? T By E (V)
Differentiate between natural and artificial satellite. _éuw/'u:;gu:f&ﬂfm;gwf&ﬁ (vi)
Define power and write its Sl unit. <§/j&gt{wm§.@}&;g (vii)
How can you find the efficiency of a system? \?wé/,f}vggﬁdjufﬁf (viii)
10 Write short answers to any FIVE parts. ez P Lol dd 3

e P st AL Gr Limoni LS
What is the relation between law of gravitation and Newton’s third law of motion?

Write two uses of artificial satellites. U U1 L e § e (i)
Give the reason why gravitational force is very weak? _ s ns ziw}ff‘dgf (iii)
Write two uses of wind energy. el Sk (V)
What is meant by the efficiency of a system? el e o~ ()
Differentiate between stable and unstable equilibrium. ~E IS /(5,64;7(@ Aulked (Vi)

??nd/g1,/“u‘éd/é/dlu/7+8n¢/,ﬁngL}d/,;Jé/d£u (vii)

Why there is a need of second condition of equilibrium if a body satisfies the first condition of equilibrium?

Write two disadvantages of fossil fuels. ~E feldn L3S (viii)
10 Write short answers to any FIVE parts. Aeyz B Lanbie S 3
What is meant by center of mass and center of gravity? Sl U AT T ST 0]
What is meant by trigonometric ratios? Sl U U /"-f}f/” (i)
Differentiate between torque and couple. SN SO A (1)
What is meant by geostationary orbit? Ce ey 2 (V)
Differentiate between artificial satellite and natural satellite. uéf 13 e S sl o g § 52 (v)
What is meant by field force? S e (Vi)
Define potential energy and describe its two types. ~ZokrUinduimgEy JEgaSy  (vii)
Define efficiency and power. _E S (viii)
10 Write short answers to any FIVE parts. Y4 Z;l'/.lég;é/ 23

_g.:,l;l/dl,??ﬁ'_gb/:'d/ud/éjd:gﬂ ()
What is second condition for equilibrium? Write down its mathematical equation.

Define resultant of forces. g P ATey, (i)
What is meant by centre of mass and centre of gravity? Sl U < G ST T A (i)
Describe the law of gravitation. -g!uy.ujwﬂ dg/ (iv)
What is meant by global positioning system? el 7 ﬁ%}g&f (v)

te FEIdUIe WL time Jebille S p L ptibe i 2 (V1)
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What is the height of a geostationary satellite from the centre of Earth and velocity with respect to Earth?

What is meant by nuclear fuels?
What is meant by solar house heating?
10 Write short answers to any FIVE parts.

el Ve PR A (Vii)
V%)l/gc__uﬁﬁgffk/}’ (viii)
ez lanbie 8 3

Why communication satellites are stationed at geostationary orbits? €l b2 Usl Ute 1 /"nfu*’u{g“f Gd (i)

What is mass of the earth? Write down the formula to find the mass of the

earth.

LS s s (i)

If radius of the earth (R) becomes doubled, then what will be effect on orbital speed? ?Knﬁ]g@;};ﬁj Vo il (R) ket (i)

How biogas is prepared from biomass?

e ded bt A T e idt (V)

e G e T F A 3m S L S K50 (V)
A body of mass 50 kg is raised to a height of 3 m. What is its potential energy?

What is difference between rigid body and axis of rotation?
When a body is said to be in equilibrium?

Which form of energy is most preferred and why?

10 Write short answers to any FIVE parts.

Define torque and moment arm.

What is meant by plumb line?

What is meant by geostationary orbit?

Describe law of gravitation and Newton’s third law of motion.
How the value of g varies with altitude.

Define work and its Sl unit.

Define biomass energy and geothermal energy.

What is meant by power and watt?

10 Write short answers to any FIVE parts.

Describe like and unlike parallel forces.

What is meant by rigid body and line of action of force?
Why are vehicles made heavy at the bottom?

Why we cannot feel gravitational force around us?

What is meant by gravitational field strength?

What is the difference between artificial and natural satellite?
Define work. On what factors work depends?

Describe Einstein’s mass energy equation.

10 Write short answers to any FIVE parts.

Define rigid body and moment arm.

Why the height of vehicles is kept as low as possible?
Define force of gravitation and give two examples.

How can you say that gravitational force is a field force?
What is meant by geostationary orbit?

Define potential energy and describe its two types.
Differentiate between mechanical energy and chemical energy.
Define efficiency and write its equation in percentage.

10 Write short answers to any FIVE parts.

Why the height of vehicles is kept as low as possible?
Define resultant vector.

Explain, what is meant by gravitational field strength?
What is meant by global positioning system?

e S ST S (Vi)
St SUNEASAIT L (Vi)

U e QoS54 IS 0d P s SGa (Vi)
ez lanbie S 3

R 75 ISP ()
)T T S (1)

e S S (i)
<§ul{.uim/5KJ¢KJg‘muiGKﬁdzf (iv)
tedndt U A LSdedlg (V)
_E ST AL sty (Vi)
_Ew PGS Feaasgy (Vil)
?‘a)l/y/c.‘ulu;m.t: (viii)

ez L;l’ilégcé:f 3

REASW RN S (i)

S e TAST IS, (i)
culed odgok (i)
S s F oA AT S Ssis ()
fe Ve el sy, V)

S O Lim S (Vi)

S b JFS NI S gy FE S (Vi)
S e GaSgedT  (viii)
Aeyz B lanbie §S 3

o T ey il (i)

te Qe okt EogPgadug (i)

LS A E S ST (i)
‘e B LSS S E ST (W)
Ce e e T8 22 (v)
_Séug(w»Jmmgﬁl@/b@jvﬁ} (vi)
EOSPREAET S (Vi)
eSSy JESE & (viii)
ez Lanbia S 3

‘e dedudf FoSgau ()
“Ea S e, (i)

feo e e Fiy s (i)

Sl e T By E (V)
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With what force an apple weighing 1N attract the earth?
Define joule.

What is mechanical energy and give one example.

How can you find the efficiency of a system?

10 Write short answers to any FIVE parts.

What is meant by neutral equilibrium?

What is meant by rigid body?

Why does the value of “g” vary from place to place?
What is field force?

What are artificial satellites?

Define work. What is its SI unit?

Why do we need energy?

Define potential energy and write its formula.

10 Write short answers to any FIVE parts.

State second condition of equilibrium. Write its formula.
Distinguish between like and unlike parallel forces.
Why the value of “g” is different on the surface of the earth?

Define geostationary orbit.

Write down the value of “G” and mass of earth with SI
units.

Define and write the Einstein’s mass energy equation.
What is meant by elastic potential energy?

Define magma.

10 Write short answers to any FIVE parts.

Define axis of rotation.

Why the height of vehicles are kept as low as possible?
Differentiate between torque and couple.

On what factors the orbital speed of a satellite depends?
What is meant by the force of gravitation?

Law of gravitation is important to us, give reason.
Define power and write its formula.

Which form of energy is most preferred and why?

T Part Il

10 Write short answers to any FIVE parts.
Describe principle of floatation.

Differentiate between stress and tensile strain.
Define lower and upper fixed points.

Why does heat flow from hot body to cold body?
Convert 50°C into Fahrenheit temperature scale.
What is meant by convection current in air?
What is transfer of heat? Define conduction.
Why does land breeze blow in the night?

10 Write short answers to any FIVE parts.
Why does atmospheric pressure vary with height?

3
Py

S e U i INubr i (V)
S s (i)
e fimg oy PGS (vii)
(S L _TST RIS i)
ey Lanbladd 3

‘e e i ()
PRV RN (1)

e drnud A Uk i St (i)
tedufUd (V)

i UF s (V)

eyl E FE S (Vi)
tednuden dGaut (Vi)

e imgEs FEE Ay (viii)
Aoz Lanbiedd -3

2 1 ZE ek 26 S ASE (i)
it P by (i)

teud i g Ol (i)
Ay fleas e (V)
AL IS E G Lt (V)
sy el GAINSIEST (Vi)
el e GAS B (Vii)

Ay G (viii)

Aeyz B lanbie §S 3

EaEHE LS4 )

‘e ded ol f Eogfdgaduge (i)
_EGIAS S (i)

sedn S yopd BS S Ladewns” ()
‘sl Ve i sy, (V)
FErr-a I a8y (Vi)
gty J S, (Vi)

U A QoG4S nd P sl SGa (Vi)

<

-ﬂal‘.lﬁ/‘?ﬁfl'jlégcé:{ 4

ks ()

LETudpt St (i)

Ew S 1z (i)
et S st e Sigens (iV)

ELe RS A LA B0°C (ST ()

?‘g:l/y/éb*;/u“’gjfu:m (vi)
<5£4/Juyﬁf?§_gmvid@ (vii)
te Fudenlanga (Vi)
-'é_»,yuz /‘..; L;l]lé&é&f A4

e tbaud AL a2 S (i)
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Define strain and tensile strain.
Define heat capacity.
What is bimetal strip?

Y S - (1)
P s (i)
?+;u/g;d;;3u;,; (iv)

?+3gd;é}u£4/ﬁLJﬁJﬂr/fd//?9tngﬁy} (v)

What is a thermometer? Why mercury is preferred as a thermometric substance?

Why double walled glass vessel is used in thermos flask?

Define radiation.
Write two uses of conductor.

10 Write short answers to any FIVE parts.
Define pressure and write its two units.

Define elasticity and stress.

What is meant by Young’s Modulus?

What is meant by heat capacity?

Define latent heat of fusion and write its SI unit.
Define convection and radiation.

What is meant by land breeze and sea breeze?
What is the cause to remain a glider in the air?
10 Write short answers to any FIVE parts.
What is meant by elasticity?

What is fourth state of matter? Define it.

State the principle of floatation.

Define heat capacity and write its SI unit also.
Why mercury is preferred as a thermometric substance?
Differentiate between conduction and convection.
Write two uses of non-conductors of heat.

What is meant by radiation?

10 Write short answers to any FIVE parts.
Give the name of fourth state of matter and define it.
What is barometer?

State Hook’s law.

Differentiate between heat and temperature.
Define evaporation.

What causes a glider to remain in air?

Define transfer of heat.

Write the use of convection currents.

10 Write short answers to any FIVE parts.
What is meant by pressure? Write its Sl unit.
Define Pascal’s law.

Differentiate between ships and submarines?
What is the internal energy of a body?

Change 300K on Kelvin scale into Celsius scale of temperature.

Why are metals good conductors of heat?
What is meant by convection current?

What is green house effect?

10 Write short answers to any FIVE parts.

?u{'La@nJWu:uCUéu’L/"’Jy,dwg;dﬁuJJK (VI)

“E sy (vii)
Ll L0 (Vi)

Beyz P lanbie 8 4

E G mlongEs flr, ()

BES Y TR (1)
PRIy A (1))

S Ve PFa7 (V)

L Gy s e s § Gk (V)
E PSS (Vi)

el e S AR mSafs (Vi)

Ce b tinl g (Viii)

iz 2 Lrl'].lé};aé:( A4
?Lg)l/.L:J/;ub‘/;/U_f‘! (I)

_E St sufe e sl (i)

_Ew Uk g (i)

L E T Ak gE s S (iv)
e QoS Goud b L2 SR B S, (V)
EO RS (Vi)
<“é/“/~oﬂl.~plu£)f/ﬁrut’£:ul] (vii)
Sl pf e FISks (Vi)

ez 2 L;l'ﬁlégcéf 4
_néuyfufmmé(t{;)lpfgdﬂn 0)
Sz (i)

il (i)

-ég}/'u:j;/;;uiaﬂ/" (iv)

Ay g F W)

Se b tinl g (Vi)

ey Sear )i (vil)

L A S (Vi)

ez 2 L;l'ﬁlégcéf 4
AySlesten Ve 2y ()
SESST) JUSF Yy R (1)

_E G g A (i)

‘b eSS A8 (iv)

ESL RIS A300K (el (V)
Sl B L K (Vi)

Sl o et S (Vi)

et/ Bt/ (Vi)

-ée,yl:? /‘." L;l]légéé:{ A4
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State Pascal’s law. REANSr I Q)
Define hydrometer. E Sk (i)
Why water is not suitable to be used in a barometer? Stw g U ude St 2 w00 (i)
Differentiate between temperature and heat. BEASI YIS JA /;‘ (iv)
Define internal energy. _E JEEaS p (V)
Why does heat flow from hot body to cold body? e tnud SAS T sd e 7 Sigen s (Vi)
Differentiate between conduction and convection. ‘;éuw/'uﬁﬂ%nf & (vii)
What is meant by greenhouse effect? Sl o :_:,@Usgqf (viii)
10 Write short answers to any FIVE parts. Beyz P lanbie 8 4
What is elasticity? ?‘gy”&i‘/w (i)
Define Young’s Modulus also write down its formula. e in gty FE e k(i)
What is meant by linear thermal expansion? Sl e 3L durds (i)
On which factors evaporation does depend? Write down their names. L Gl e PSSy (V)
Define lower and upper fixed points in thermometer. Ay JEF g2 E (V)
Distinguish between insulators and conductors. LG s Y (Vi)
Define global warming. Ay FEEmE (vii)
How do birds fly? S ide sy (viil)
10 Write short answers to any FIVE parts. ez B Lanye S 4
Why does the atmospheric pressure vary with height? S bbdaud AL LGk 2 St (i)
State Hook’s law. ~Zukusisl (i)
Define pressure and write its formula. e mE s 8 E, (i)
Differentiate between temperature and heat. ~E O S 7 ) ¥ & (iv)
Define latent heat of fusion. FEy e Sk (V)
&gggrl{ctlon of heat does not take place in gases, give ey F Jurk( T /j (vi)
What is meant by convection current? Sl ol et S (Vi)
Write two uses of good conductors. Ll i 0 E (Vi)
10 Write short answers to any FIVE parts. Aeyz B lanbie 8 4
Define principle of floatation. Skl g (i)
Why is water not suitable to be used in a barometer? en Uyl e s Y (i)
Why does the atmospheric pressure vary with height? ?LLt'l?d,fu}[ AL Gak St (i)
Write down applications of thermal expansion. ﬂ“éuwu&%slg{&/u; (iv)
Differentiate between temperature and heat. Sl el 4 e (V)
Why does thermal energy flow from hot body to cold body? fe GF ud A () ;ﬁ;ﬁ (f gaJg s (vi)
Why conduction of heat does not take place in gases? St Ul S / (vii)
What is greenhouse effect? fe e/ (Vili)
10 Write short answers to any FIVE parts. STy P [P P
Define density and write its SI unit. leySlad y J8s s ()
What is hydrometer and write its uses. -ﬂww&uwgf ik (i)
Why is heat transferred from a hot body to cold body? e dnFudt et e ey (i)
What is meant by clinical thermometer? Write its range. _éé“/u’u;?ﬁ_;u/g./_ﬁr/ﬂ (iv)
Define the specific heat of a substance write its formula. e QN el e nos 7SS (V)
What causes a glider to remain in air? ~Eerbe i tinl i€ (Vi)
Differentiate between land and sea breezes. RPN ;(f md/,(f (vii)
Define radiation. oy JSS6a (viii)
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10  Write short answers to any FIVE parts. Aepzf Lol 4
tuse bt 2 Lduad Asmdpfiof e roosutlyFe s ()
Why does a piece of stone sink in water but a ship with a huge weight floats?

What is a barometer? S bl Ay (i)
Define elasticity. _E G w (i)
Differentiate between temperature and heat. SO S 7 yA & (iv)
What is meant by internal energy of a body? Sest e GHS A ﬁ J( (v)
Why does transfer of heat in fluids take place by convection? ?g}hﬁf Ul e FES eazJégiEde (Vi)
Differentiate between land breeze and sea breeze. SO ;ff /,uj/,(f (vii)
Define thermal conductivity. Ew SE S 5 (viil)
10 Write short answers to any FIVE parts. -’45:,;1,2/"3 L;t'z:égc;.éf A4
How does heat reach us from the Sun? ?LL@%? af.f(uc_@mcdv (i)
What is the effect of length on thermal conductivity? S b G PLA, (i)
Write down names of four faces of “Leslie Cube”. -7 (L‘Lu}’/ ded oA (i)
Define the terms heat and temperature. Eo Sl g mens (V)
What is meant by upper and lower fixed points of thermometer? e e SISt 2 (V)
The temperature of Lahore is 50°C . Convert it into°F . U S A1 50°C £y (Vi)

Ut o i LI LS S o (vii)
Describe that when the objects float on water and when sink into it?

Define plasma. What is its relation with electric current? ?‘LJ‘; VAL S S s Ay (viii)
10 Write short answers to any FIVE parts. Aeyz B lanbie §S 4
State the principle of floatation. ~E e (i)
Define elasticity. E S (i)
State Hook’s law and write its formula. & U G618 EE e 96 g (i)
Define specific heat of substance. E eSS ()
What is meant by anomalous expansion of water? Sl i Lijﬁ{oﬁGd’_L&g V)
Write the uses of Styrofoam. ey Zede (Vi)
Why conduction of heat does not take place in gases? St Ul S / (vii)
Write down two uses of non-conductors. ey L e (Viii)
10 Write short answers to any FIVE parts. ez B Lania S 4
Define pressure. Write its Sl unit. ,ﬂngTleJu<§4}J24 0)
State Archimedes Principle. _ S (i)
Define elasticity. _ESSET (i)
Change 300K on Kelvin scale into Celsius scale of temperature. <§J~,;U:J:C‘f?~///¢/f 300K 4&5%)5( (iv)
Define latent heat of vaporization. F e § SFums (V)

«LL/V;’ KC/”J?L/,Lo/l]gﬂ/‘:u&é/‘j’dliéwc@/ (vi)
Write down any two factors on which rate of heat flow depends.

What causes a glider to remain in air? Se b tink izl (Vii)
Define conduction and convection modes of heat transfer. “E PSS P RS L e Je (Vi)
10  Write short answers to any FIVE parts. STy P [P LA
Write any two features of kinetic molecular model of matter. et s 3SR B ek (i)
Define pressure and give its formula. _QUr/GKJu/,téq YA Ay (i)
What is meant by internal energy? te e Eafp (i)
What is greenhouse effect? fe | .u{%uufgqf (iv)
Give any two properties of thermometric liquid. L F etor® s G SB e 2 (v)
How does heating affect the motion of molecules of a gas? ?a,bm‘lt/ K.:du//?(fru@g?téwf u’( (vi)
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Write two uses of convection currents. LE e LSS (i)
Why are metals good conductors of heat? cupdmusls s Eike (Vi)

_uj/f‘;09£Jl//;_~é/“f“aglﬁLalﬂruc&/ @igdizaa
Part — 11, Attempt any TWO questions. Each question carries 09 marks.
04 AN 20 S 1Y =N 74 e s ()5
Describe vertical mation of two bodies attached to the ends of a string that passes over a frictionless pulley.
05 o bt/ amuﬁuu»w_%m)w;ﬁ)flélms’z SAE10 S Ams bl Al ()
A bicycle accelerates at 1msfrom an initial velocity of 4ms™for 10 s. Find the distance
moved by it during this interval of time.

04 e W eSS STl (L) 6
Determine the mass of earth with the help of Newton’s law of gravitation.

05 I LG L Gk K30 AL X U250 (D)
Find the perpendicular components of a force of 50 N making an angle of 30°with x axis.

04 Explain thermal conductivity and derive its formula. ~E B I oGS () T

05 e adnd 2L (D)

How much would be the volume of ice formed by freezing 1 litre of water?

04 -éﬁl(ff;«ljl/JJluléugu]@'i/})gc/(](u‘j)f ) 25
State Newton’s second law of motion and also derive its equation.

05 el Utkmh ™ty il i S Leig2100 o JEs e AL HAML05ms ? oot idl (&)
A train starts from rest with an acceleration of 0.5ms™. Find its speed in kmh™, when it
has moved through 100 m.

04 sl U A SE AR el Ui g FSEASE (LD 6

Define equilibrium and give its example. Explain first condition of equilibrium with examples.
05 g B50ms™ 2 S5 e G- e yte i e 50 A LIS 200N 2 Afil /K20 (O)
A force of 200 N acts on a body of mass 20 kg. The force accelerates ¢« (/U b i o 1)
the body from rest until it attains a velocity of 50ms™. Through what distance the force acts?
04 Derive formula for thermal conductivity. LS G A () T

05 An object has weight- S rr 530U b 1LAN b T bla L U2 18N uﬁu"wgf’} < ()
18 N in air. Its Welght is found to be 11.4 N when immersed in water. Calculate its density.

04 _gfgfiui‘.:/fl1/»/,1T;/ﬁufl.@cduﬁ.,eérkfouugfﬂmJ%)fgu D 25
Find out the relation for acceleration and tension of two bodies attached to the ends of string
when one moves vertically and other moves horizontally.

05 efL e S fbhn S8 K 20 e unf = Pikoplizy £ 2ms ™ fr S v = 1532680 (O)
A train slows down from 80kmh™with a uniform retardation of 2ms™. How long will it
take to attain a speed of 20kmh™?

04 Define torque and explain it. e $uia @y Sk (L) 26
05 S G P ES A 3m S L SF50 (D)
A body of mass 50 kg is raised to a height of 3 m. What is its potential energy?
04 S SE B gL LS 5L (G T
Derive an expression for thermal conductivity of a material and define thermal conductivity.
05 E S IO T e bn986°F LS00 (D)

Normal human body temperature is 98.6°F. Convert it into Celsius scale and Kelvin scale.
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04 S=Vt+ Lo SRS NP S5 PR uﬁsu’iﬂm;w:fﬁe-@;{.éafid/ﬁug (L -5
Draw speed-time grap% for the motion of a quy. Using this graph derive second equation of mqtion.

05 Unen S s e § L Lie 1 §3ms™ e md 2350em 7 L /£05 ()
How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of
radius 50 cm with a speed 3ms™?

04 Define kinetic energy and derive its equation. _Ehlebl Uiy Jla el () 6
05 b S e L BON c 160m RPAKSTE LK (2
The steering of a car has a radius 16 cm. Find the torque produced by a couple of 50 N.
04 o Sl R R e R E () T
What is thermometer? Also write the characteristics of liquid used in thermometer.
05 e 2l g S 20N G e 10mm i LIS U UE o Gkl (9)

The head of a pin is a square of side 10 mm. Find the pressure on it due to a force of 20 N.

04  Prove that: S:Vit+%at2 S:Vit+%at2 Fet (D) 5
05 e pUd S8 i L L e b (3ms™ e L 24,50em P LUt /K05 (0)

How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of

radius 50 cm with a speed 3ms™?
04 Explain two conditions of equilibrium. -éy@gfﬁ}@»ﬁ/dﬁ ) -6
05 L E I AT B E (g e (U108 FS G (16m SQL TOKg bkl (O

Calculate the power of a pump which can lift 70 kg of water through a vertical height of 16
metres in 10 seconds. Also find the power in horse power.

04 ?La/%,»c/ufut'g/(k”é“{ﬁfﬁuf;-“éugdﬂ Kusa (D 7
State Archimedes principle. How it is helpful to find the density of an object?
05 V‘L/K/)/l,ﬁ"d/d/&/!]éL&U}(L}L‘LL 20 OC;/:;{JLQL}M 2.5 ;zruﬁJ/.uQ (u)

A container has 2.5 litres of water at 20°C. How much heat is required to boil the water?

04 _Feobn Ey LU L FF LA (L) 5
Define and explain"the law of conservation of momentum. i
05 i el 01003/ L Aotk 28 (24100 A L FEMipiy o S0 e clod et /i (9)

A train starts from rest. It moves through 1 km in 100 s with uniform ?Jntﬁm{q/‘
acceleration. What will be its speed at the end of 100 s.
04 Calculate the mass of the Earth. -gfr)’fuwuﬁj (LD -6
05 S A1 400N UM S S e e e e S ams et (O)

A motor boat moves at a steady speed of 4ms™. Water resistance acting on it is 4000 N.
Calculate the power of its engine.

04 ‘g;fyu,?%m/,w/d(/ufuKﬁ/wdéuﬁ‘uyw_ﬁ%y @ 7
What is meant by evaporation? On what factors does the evaporation of a liquid depend? Exp[ain.
05 ?gﬁ@/r}"..lﬁgd/,d!;&/?é_tzdwl (u)

How much would be the volume of ice formed by freezing 1 litre of water?

04 -“é..y/gd/&gsILu’/}ul;é,zal_wl/“iLwi;éuy.uiw!/u{uir(dz’ ) 25
State Newton’s second law of motion. Derive an expression of force and hence define SI unit of force.

05 i w8100 3SE Aotk 28 (24100 A L HE My o S0 e ol et /i (O)

A train starts from rest. It moves through 1 km in 100 s with uniform ?Jnyﬁggd/q}’
acceleration. What will be its speed at the end of 100 s. )
04 State and explain the law of gravitation. Lol UM E S UI L E Sy () 26
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05 _E e F A - E e S e (P U108 FS.ckSsf S16m S8 T0kg 5l (D)
Calculate the power of a pump WhICh can lift 70 kg of water through a vertical height of 16
metres in 10 seconds. Also find the power in horse power. ) i
04 _E ke FFr s n 8l E o P s (LD T
Define specific heat capacity. Describe the importance of large specific heat capacity of water.
05 -i,f}’”wiuﬂ)mLdum-uyt»nﬁd‘(u”dhc. 10cm dUJé’;LJ’u/&;’/J )
A wooden cube of sides 10 cm each has been dipped completely in water. Calculate the
upthrust of water acting on it.
04 _“éjéloi;Pd/})JJ]L};JJ!iﬁE-@{ ) 5
Derive the second equation of motion with the hejp of speed-time graph.
05 . 0.6 =8l i@l s bnsPSnrid S Puenl FIFL p p BANMLSALAASES (L)
How much is the force of friction between a wooden block of mass 5 kg and the horizontal marble
floor? The coefficient of friction between wood and the marble is 0.6.
04 What is meant by kinetic energy? Derive its equation. <§;1_~,15L»JJ:?§,;; s :.J.)t,@u&( N -6
05 E e 20N i XK e 5SS Ll K300 A LA xS AL ()
A force is acting on a body making an angle of 30°with the horizontal. The horizontal
component of the force is 20 N. Find the force.
04 e L2 L0G S mld (T
Derive an equation for the pressure at some depth in a liquid.
05 ¢Skt F Senr L L1y £65°C =10°C 24604 /K05 (L)
How much heat is required to increase the temperature of 0.5 kg of water from 10 °C to 65 °C?
04 -:L}'(wu:c.ud/uﬂt"fuul“éu.l{.ujﬁ'l}yggf}”{&:f ) 5
State Newton’s first law of motion and explain with the help of two examples.
05 -éfﬁ”ﬁm‘a/%{.‘aakgn 15 ms‘l /}’Z[u': 5s &U)JJ'-‘LL}.‘///J]LU"/U)J?)O mS_l/K.{l (u)
Find the retardation produced when a car moving at a velocity of 30 ms ™ slows down uniformly to 15msin5s.
04 il ke Sl ) L fim Eeola§ FrSF g (L) 6
Explain the motion of artificial satellites and derive the formula of orbital speed near earth.
05 -‘LSN li;’”;}{_y/ﬁ‘lZN b"«'{){—x gu'?’@—ﬁo//:l/lﬁfdlf/}gﬂ (u)
Find the magnitude and direction of a force, if its x-component is 12 N and y-component is 5 N.
04 State Pascal’s law and explain hydraulic press. ol ui/?Ju)gpn“é LG ) Ry
05 < 1.9x10° K d S f s g L e g g, 30°C Qa5 2l 5 0°C 2l (L)
Abrassrodis1mlongat0 °C . Find its length at 30 °C .(Coefficient of linear expansion of brass is1.9x10° K™ )
04 State and explain law of conservation of momentum. -"éyuwgéuwiwu%f L(b"‘f » () 5
05 i v i£100-c 3L otk ek LUt bE100 A LMty e (0 e ol et il (L)
A train starts from rest. It moves through 1 km in 100 s with uniform ?Jn&@;&;)’
acceleration. What will be its speed at the end of 100 s.
04 How will you determine mass of the earth? Explain. Gl Ll Sk g (G 6
05 b et ge L 50N e 16em Ak A LT (9
The steering of a car has a radius 16 cm. Find the torque produced by a couple of 50 N.
04 _Etenl§ Uit e s S i () T
What is meant by volume thermal expansion? Derive its equation.
05 & in 255gem 65028 M Qe dL@um Eloa L uine 3069 UVl L5 L3 2 EFS ()
A cube of glass of 5 cm side and mass 306 g, has a cavity inside it. If the <5§(F(A|;K
density of glass is 2.55gcm™. Find the volume of the cavity.
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04 By using speed-time graph, prove that: S=Vit +%at2 St L SIS ey (-5
05 S M AS100N Ut L /€50 (O)
Find the acceleration produced by a force of 100 N in a mass of 50 kg.
04 _“é,w;,ut,»“i‘CJI/?dAJ(LJ;G‘CuﬁJ_é.g}J&/’I&‘Q ) -6
Define potential energy. Derive an expression for it at some height with respect to the Earth.
05 _éril’”bfjt’ﬂi)Lni%LJL 50N -916 cm J.Z,Kﬁ,jj{’éjgf/ (u)
The steering of a car has a radius 16 cm. Find the torque produced by a couple of 50 N.
04 b B AU e s IS () T
State and prove mathematically “Archimedes Principle”.
05 ?‘L/KJ}JL&’(}(J&Aféiilj]}(&g-% 20°C A6 QP 25520 G skl (O
A container has 2.5 litres of water at 20°C . How much heat is required to boil the water?
04 _é/'é!gbl/d/ud/&//c);Jdijﬁﬁ’,é;;‘ ) 5
Derive second equation of motion with the help of speed-time graph.
05 ?JM&/}/}JJ/}JV%LL@LJ}J/‘:ML@,&/;J&)’QL2m5_2}KJ1-‘L 20N u}%ﬁv{t ()
A body has weight 20 N. How much force is required to move it vertically upward with an acceleration of 2ms ™ ?
04 Er RS L G Ly (L) -6
Using Newton’s law of gravitation, find the mass of the earth.
05 S g P Sk 6m 10 S8 200kg il ()
Calculate the power of a pump which can I|ft 200 kg of water through a height of 6 m in 10 seconds.
04 ?‘Lt'f/l,ﬂil{C/Jﬁ/{{%&é@b}di)lfdf Ld/"‘ady‘&«aﬂ/{{’ ) 7
What is evaporation? Explain any three factors on which rate of evaporation depends.
05 -”érk*w}wugnL&%m-%mwé/)f UL 10em SUET 1L RSP L ()
A wooden cube of sides 10 cm each has been dipped completely in water. Calculate the
upthrust of water acting on it.
04 _Ehlenla Al T eudS S ey ()5
Derive third equation of motion with the help of speed-time graph.
05 _.‘érﬁl”u'/i/l{/)é Léuu"»{? 2 fJi-‘LQJ/JZLJmJlO ms‘lﬁ.{u l{u’l.(l/'/:g5 (u)
A body of mass 5 kg is moving with a velocity of 10ms™. Find the force required to stop it in 2 s.
04 Determine a force from its perpendicular components. SN S PN Ve LV G () B
05 e AL U1 4000N S S e 3T e b S Ams T Lt L (O
A motor boat moves at a steady speed of 4ms™. Water resistance acting on it is 4000 N.
04 Calculate the power of its engine. 0 . G
. T I TR J) -
—Txm -éﬂ“"ébﬁ’/’u{dzf/J/d/Ldr
Define thermal conductivity of a substance and prove that: K =% ﬁ
05 i L L4 b2 £90°C « 20°C £268,./ 200 ot lrei sl /J 10003 AL (O
An electric heater supplies heat at the rate of 1000 Joule per second. How much time is
required to raise the temperature of 200 g of water from 20 °C to 90 °C?
04  Derive third equation of motion by graphical method. _“ém;u&@)ﬁtf[guudﬁﬂfafi W) 5
05 ?Jn:u}/‘d/gf/}u’yéLL@LJ}J@)IV};L&")’Q&2m872:’/Jl_‘L 20N u}%ﬁ.{’ (&)
A body has weight 20 N. How much force is required to move it vertically upward with an
acceleration of 2ms™?
04 Determine the mass of the Earth. Jf(}’*utw*/ (_Au) -6
05 et e HEBON e 160m A E7 LT (
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The steering of a car has a radius 16 cm. Find the torque produced by a couple of 50 N.

04 _Eeoln§ LIS TSR LT () T
Explain the working of a hydraulic system as a force multiplier.
05 ?Lg/g/)/b@f ; Ja/l]ééiu:’ak-‘a 20 OCj./:;KJ}‘ad&ﬂ 2.5 :zruﬁcf/.u{! (u)

A container has 2.5 litres of water at 20°C . How much heat is required to boil the water?

ufﬁ'cacfﬁwlﬁ/:/tb{ufiy!
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